
ChaƉƚeƌ Ϯ SecƚiŽn Ϯ͘ϳ SŽlǀing PƌŽblemƐ InǀŽlǀing TƌigŽnŽmeƚƌǇ 
MŽƌe ƚhan One Righƚ Tƌiangle 

AƐƐignmenƚ Ɖ͘ ϭϭϴ ηϭͲϲ͕ ϴͲϭϭ͕ ϭϰ͕ ϭϳ QƵiǌ͗ Neǆƚ DaǇ͊ 
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Learning Goal Ϯ.Ϯ SŽlǀe ƉƌŽblemƐ inǀŽlǀing mƵlƚiƉle ƌighƚ ƚƌiangleƐ͘ 

 
RecaƉ͗   AngleƐ Žf EleǀaƚiŽn and DeƉƌeƐƐiŽn  
 
 
       
 
 
 
 

Example CalcƵlaƚe ƚhe meaƐƵƌe Žf ∡𝐴𝐵ܥ, ƚŽ ƚhe neaƌeƐƚ degƌee͘ 

 

 

 

 

 

 

 

 

 

 
Example Whaƚ iƐ ƚhe lengƚh Žf Ɛide y in ƚhe fŽllŽǁing diagƌam͕ ƚŽ ƚhe neaƌeƐƚ ƚenƚh Žf a cenƚimeƚƌe͍ 
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Example The SaƐkaƚŽŽn BallŽŽn FeƐƚiǀal iƐ Žƌganiǌed bǇ SƵndance BallŽŽnƐ and ƚhe Canada RemembeƌƐ 
AiƌƐhŽǁ͘ In KinƐmen Paƌk͕ WaǇne haƐ ƚeƚheƌed hiƐ ballŽŽn ƚŽ ƚhe gƌŽƵnd aƚ ƉŽinƚƐ B͕ C͕ and D͕ ƵƐing ƚhƌee gƵǇ 
ǁiƌeƐ͕ aƐ ƐhŽǁn͘ 

a͘ Whaƚ iƐ ƚhe lengƚh Žf CD͕ ƚŽ ƚhe neaƌeƐƚ ƚenƚh Žf a meƚƌe͍ 

 

 

 

 

 

 

 

 

 

b͘ Whaƚ iƐ ƚhe heighƚ Žf ƚhe hŽƚ aiƌ ballŽŽn͕ ƚŽ ƚhe neaƌeƐƚ ƚenƚh Žf a meƚƌe͍ 

  

 

 

 

 

 

 

 

 

 

c͘ CŽƵld ǇŽƵ haǀe fŽƵnd ƚhe heighƚ Žf ƚhe hŽƚ aiƌ ballŽŽn ǁiƚhŽƵƚ calcƵlaƚing CD͍  JƵƐƚifǇ ǇŽƵƌ ƌeƐƉŽnƐe͘ 
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The height of the balloon is 128.6m


